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2 + 3 ( 7 - 1) ÷ 3 equals 

 

 

 

 

 

A 

 

Answer Options 

Option A Option B Option C Option D 

8 10 6 7 
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How many different digits can 
replace * in the number 204*73 so 

that the resulting number is 
divisible by 3? 

  

C 

Answer Options 

Option A Option B Option C Option D 

One Two  Three any digit, the 

number will 
always be 

divisible by 3. 
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Which of the following is equal to 
1? 

 C 

Answer Options 

Option A Option B Option C Option D 

( 7 - 1) + 3 ÷ 9 

 

( 3 + 4 ) ÷ 1 – 2 ÷ ( 8 

+ 6) 

 

{(10 - 3) – 1} ÷ 6 

 

2 x 3 – 5 x 5 + 4 
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A teacher challenges his class 7 

students to try and 'invent' a 

divisibility test for 12. After 

discussing among themselves, the 

class comes up with 4 different 

answers, which are given below. 

Only one of them is correct. Which 

of these is a divisibility test for 12? 

 

  

 

B 

Answer Options 

Option A Option B Option C Option D 

The number 

should pass the 

divisibility tests 

for 2 and 6. 

The number 

should pass the 

divisibility tests 

for 3 and 4. 

The number 

should pass the 

divisibility tests 

for 2 and 10. 

There is no 

divisibility test 

for 12. 
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w = (-3) . (-9),  x = 3 + (-

9),  

y = -3 x 9 , z = -3 + 9  

If these are arranged in 

decreasing order of 

values, the correct 

sequence would be 

  

 

A 

Answer Options 

Option A Option B Option C Option D 

w, z, x, y w, y, z, x z, x, y, w w, z, y, x 
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Anu copied down a 

simplification question 

as:                   7 - 8  - 2 + 

6 ÷  2.  

There were some 

brackets in the question 

which she missed. Yet, 

Anu's answer finally 

turned out to be correct 

as 0. Which of the 

following could have 

been the correct 

position of the brackets 

in the question? 

  

 

D 

Answer Options 

Option A Option B Option C Option D 

(7 - 8) - (2 + 6 ÷ 

2) 

   7 - (8 - 2) + (6 

÷ 2) 

(7 - 8) - (2 + 6) 

÷ 2 

(7 - 8) - 2 + (6 ÷ 

2) 
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This is what the thermometer 

showed on a certain day in 

Moscow. 

By evening, the temperature had 

fallen by 2degree;  

By midnight, it had fallen 4 degree 

Celsiusfurther. 

The temperature recorded at 

midnight would be: 

  

 

A 

Answer Options 

Option A Option B Option C Option D 
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-1 degree Celsius 

 

0 degree Celsius 

 

1 degree Celsius 

 

-2 degree Celsius 

 
 

 

 

8 

 

 

 

2_10 

Mathemat
ics 

 

5805 

 

 

Integers 

Chapter 1 

 

(-4) x (5) x (-7) x (-5) x (-9) = ?   

D 

Answer Options 

Option A Option B Option C Option D 

-20 20 - 6300 6300 
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-9 subtracted from -8 equals 

 

  

B 

Answer Options 

Option A Option B Option C Option D 

-1 1 -17 17 
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Which of the following has 

the greatest value? 

 

  

C 

Answer Options 

Option A Option B Option C Option D 

(-1000) ÷ 10 (-100) ÷ 100 (-10) ÷ (-100) 100 ÷ (-10)  
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3 x 3 - {3 - ( 3 + 3) ÷ 3} is 

 

  

B 

Answer Options 

Option A Option B Option C Option D 

6 

 

 

8 10 12 
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-7 - 3 + 2 equals 

 

  

B 

Answer Options 

Option A Option B Option C Option D 

-12 -8 -2 12 
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The water level of a river in 

May was 30 cm below the 

'normal' mark. After the 

rains, the level of water 

went up by 25 cm. If the 

water level in May is 

written as '-30', the level 

after the rains would be 

 

  

A 

Answer Options 

Option A Option B Option C Option D 

-5 -55 5 55 
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A book is lying open 

 

Which of the following 

could be the sum of the 

page numbers of the two 

facing pages? 

 

  

B 

Answer Options 

Option A Option B Option C Option D 

100 101 102 Any of these 
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Mr. Rao buys a flat which costs Rs. 

4 .25 lakh. Of this, he has already 

paid Rs. 2,50,000. How much more 

does he have to pay? 

 

  

D 

Answer Options 

Option A Option B Option C Option D 

Rs. 4 lakh Rs. 2.25 lakh Rs. 2.75 lakh Rs. 1.75 lakh 
 

 


